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3. 0°<x<90° @, B T X2 ALY
@D -1<cosx<0 @ 0<sinx<1
® 0<tanx<1 @ -2<sinx<-1

B —1<cosx<0



4. He I E2AS IEAL.

ftlo
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@ sin0° = cos0° = tan0°

© sin45° = cos45° = tan45°
© sin 90° = cos 90° = tan 90°
® sin90° = cos 0° = tan 45°

© sin0° = cos 90° = tan 90°
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oS AFzHH] 9] EE H 17 sin 70° 4 cos 50° X sin 25° 4 tan 70° 9] #&
Fop?

e sin cos tan

25° 0.42 0.90 0.46

50° 0.76 0.64 1.19

70° 0.93 0.34 2.74
@ 3.9188 @ 3.9288 ® 3.9388

@ 3.9488 (3 3.9588
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tan A = 0.5 & T, sin A + cos A 2] Z27(H, 0° <A <90°)
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12. & 184 AC=16cm, /B=30° <
o, ¢ O 9] 2| 59] do|=?

® 8cm @ 10cm @ 16cm

@ 25ecm ® 32cm




13. sin0° xtan0° —cos0° 2] ZF2 A, sin90° x cos 90° + tan 0° 2] <
Bt g o, B- A 9] ka9

D -2 2 -1 ® 0 @ 1 B 2



27442+ ABC o4 AB = 8cm ,

BC =4V3em 4 ®, /B €] 2717

D 15° @ 30° ® 45°
@ 60° ® 75°




15. oS 129 AABC oA

@D 6.82

AF7}

(Af2tulol #)
z sin = cos T tan z
43° | 0.6820 0.7314 0.9325
44° | 0.6947 0.7193 0.9657
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
? 6.947 3 7.071 @ 7.193

3 7.314
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18. ©& IHoA BC = 20, /B = 120°
o]1 AABC 9] Yo7l 403 ¢ o, AB
o] Ao|& FotA?
@ 8 @ 11 3 12
@ 13 ® 14
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B ---99---~ €
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Holg Fafelet

® 200 cm? @ 200 V2 cm? 3 200 V3 cm?

@ 2022 cm? 3 2023 cm?
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21. o I19¥E3 #Zol CD = 8, AD
6, LABE = 45° 2l 4Z}7]5 0] Qlt}. o]
AZY715 9] ROl =2

D 126 @ — 3 48
@ 686 ® 96



22. oS 19¥L /ABH = 60° ¢l 9%
ojt} . Yol Hulg J15hH?
@ 243V3n @ 244V3n
® 2453 @ 243\5r
® 246 V5n
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o] 742 ol2A Hgiet. o] W, Ag o] Fol?

D 43 @ 843 ® 12v3 @ 16V3 G 20V3
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